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o Code number given on the right hand side of the question paper should be written
on the title page of the answer-book by the candidate.

o Please check that this question paper contains 27 questions.

) Please write down the Serial Number of the question before attempting
it.

o 15 minute time has been allotted to read this question paper. The question paper

will be distributed at 10.15 a.m. From 10.15 a.m. to 10.30 a.m., the students will
read the question paper only and will not write any answer on the answer-book

during this period.
Tttt fagm
POLITICAL SCIENCE
freiiRa a3 : 3 w92 34T 3P : 100
Time allowed : 3 hours Maximum Marks : 100

59/1 1 P.T.O.



QAT 39T

(i)
(i)

(iii)

(iv)

(v)

(v)
(vit)

Tt 397 sifrard &1

T &7 1 - 5 7% Jeh J97 Uah 3P P &1 57 Jo1 &1 Fodah SR 20 55l G 3714 78l
g1 =T

J97 G&TT 6 - 10 TF T J97 @ 311 H1 &1 37 941 T i ST 40 JIs<) G 378 781
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All questions are compulsory.

Questions number 1 - 5 are of 1 mark each. The answers to these questions should
not exceed 20 words each.

Questions number 6 - 10 are of 2 marks each. The answers to these questions should
not exceed 40 words each.

Questions number 11 - 16 are of 4 marks each. The answers to these questions should
not exceed 100 words each.

Questions number 17 - 21 are of § marks each. The answers to these questions should
not exceed 150 words each.

Question number 21 is a map-based question. Write its answers in your
answer-book.

Questions number 22 - 27 are of 6 marks each. The answers to these questions should
not exceed 150 words each.



1.  Oifgad sasen & fatael 7 f=fafea 7 9 fegel qga T8 oo ? 1

o~ n .

(a) Tsit w9t ! 9o |

(b) FHFA & fagid W T9S o1 i
© TRt <& eteran wfquer &1 g Tome T8 |
d) 31 T R IF I his 07 & |

Which one of the following was NOT given primacy by the makers of the Soviet
System ?

(a) Abolition of private property.
(b) Society based on the principle of equality.
(¢) Noopposition party to be allowed.

(d) No state control over economy.

2. NEIM (TLTAETTA) & e H1 Yaleh a8 () -1 <00l © 2 1
What does the logo on the ASEAN flag symbolise ?

3. U9 i Fel 9 © fF Seifern @1 sfoem g5 v deumt 1 sfae © 2 1

Why is it said that history of petroleum is also the history of war and
struggles ?

4, TEE T H, TIR < F FS YHITdh <o a1 T T i A9 9 foh wRa &1 fsar 1
TR & Aqed aTet T2 & |1 2Afersk g =fen 2

During Nehru era, why did some political parties and groups in our country
believe that India should be more friendly with the bloc led by the U.S. ?

5.  WRd fham Ifem @ dafuad feam, <o & sfusm o= fpa 9 g fyg 92 1

How did the farmers associated with Bharatiya Kisan Union differ from the
most other farmers in India ?
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AT ST % B % deS[e, Hewleal &1 Tk g % foeg 7l g5 Bed A e 2

Yehd1 & 2

What constrained the Super Powers to go for a full-fledged war inspite of having

nuclear weapons ?

R H |k Hige oA1T WA i foen § Giel T STee waM oTsTe ot fihr 2

1 AThHAT HITI |

Assess the role of Maulana Abul Kalam Azad towards maintaining communal

harmony in India.

WY ‘A’ 1 fou wr frefafed a2l <6l @9 B | et 1edqof Siig see . 4x%=2

WA A wWH B

G) SITd SAE T ALTE (a) el =X fog
(i) 1967 - 1969 T YRA h IY-FHAHAT (b) SIS TH
(iii) 1977 - 79 TF 9RA & ISU-FHFHA (© .9 e
(iv) 19529 1977 T 9RA & Hgd T3 (d) HRRST <9
Match the following in Column ‘A’ with those in Column ‘B’ in a meaningful
way :

Column ‘A’ Column ‘B’
(1) Head of the Commaission of Enquiry (@) Chowdhary

(1) Deputy Prime Minister of India from 1967 to 1969 (b)
(i11) Deputy Prime Minister of India from 1977 - 79 (c)

(1iv) Union Minister of India from 1952 - 1977 d)

Charan Singh
Jagjiwan Ram
J.C. Shah

Morarji Desai



9. ‘'NYH g WR' 1 o417 399 Faog U it aaeietl ) o 3H U 7 1+1=2

What was ‘Operation Blue Star’ ? Why did it hurt the sentiments of the Sikh
Community ?

10. THSI STeTEaTE! ST i S THA Tl 3R hd I gaTl ? 2

Why and how did the Mizo Movement for succession gain popular support ?

11. 1947 9 1962 T YRA - 1 ol &1 U HIf9T | 4

Describe India - China relations from 1947 to 1962.

12. 'TIAA (5 9 17 7 A SATUHRI o &3 § $Hoh H&A NS I JUMH hiTC |
1+3=4
What is Human Rights Watch ? Describe its main contribution to the field of
Human Rights.

13. ‘g UHeH 1 91?98 W fhdAr aays fag gen? ww sifsu 1+3=4

What was the ‘Earth Summit’ ? How far did the summit prove to be useful ?
Explain.

14. 9RA H Tl 19 31 A6 § g Tel % Fc & hl TR SRl i T HifSr |
4x1=4
Explain any four reasons for the dominance of the Congress Party in the first
three general elections in India.

15. Thfya srefeqasen & wRdta Aiga & gei IRomHl i gedishd HifeT | 4

Evaluate the major outcomes of the Indian model of mixed economy.
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16. YA H ToeIaTe] afieie o foar o foru Seer uftfeerfaat o adem wifsw | 58
Fae ¥ foT a9 TR 2+2=4

Examine the conditions responsible for the growth of Naxalite Movement in
India. Suggest ways and means to crush it.

17. &Il & Yoo | ey 271§ e 31 | Heremifd ga+1 Sarel sidl foh < <!
STHTYSH STt T&t | |rfesh el 1 Tomel! TaT e 9! ot $TR @Rl o1 o7el W=
1 G HIN[E el W&l 3R TR 7 TR & ST 63T YE [hal | T AT
2T a1 T2 <o AT Wfeh TRept Farra (aifaet) & anfas fere s & stfeemier <

TR &t 3R "ok fou MU |
FHUY U T TEaTUT Sl SATYde Ufeq 3T FeAfeRad uvHl o ST g

G) ‘EER fEmd (FEfaet) 9 e Ay € 2

(i) HMfed HY JOTEH TH BH | AN h1 Qe Y& Y T 2l 7t ?

(iii) I 3Teraol ford 91 § Heifdrd § 2 PR 3 W o1 2741d i1 IRy foman ?
1+2+2=5

The value of the ruble declined dramatically. The rate of inflation was so

high that people lost all their savings. The collective farm system disintegrated

leaving people without food security, and the government started to import

food. The old trading structure broke down with no alternative in its place.

The old system of social welfare was systematically destroyed. The withdrawal

of government subsidies pushed large sections of the people into poverty.

Read the above passage carefully and answer the following
questions :

(1 What is meant by subsidy ?

(1) How did the disintegration of collective farm system lead to the loss of food
security ?

(1) This passage 1s associated to which country ? Why did the government
start importing food ?
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18. SATATHIOT | THIM T hl qTehd | HHT AT BI-THT I1q 721 | TSHITTh T
% YR % ®9 H TF 1 AT ] HiE AT 781 el © SR T 39 319 § o1
ff @ T fova &1 TeEifa § o o fafy= e & o9 Hisg gt =t iR
qfagTedl 1 TEA © | I HMA SR LT, T Y& SiY 379 A &l &l
T TR € 3R Tgd Wra-THHR 3T FeH =1 SRRl O Wid W & S8l SR el
B T eft ot Hewayol 31 g E

qEd: TS A § AT o Hoea®d Iod i qehd H SR geTT 8 | 319
T & g1g | STenyfer Jrenfirht Hisg  f5esh od T 310 Tkl & ar H
=TT 2T Tohd ¥ |
S {GU T 31avuT St Y deh Ufeq aoT Fefaiad woet & ST g
() 9 & Tl Haitee Aftard w9 9 €2
(i) Ty TR fohd YR T S Jgd IMEA HLH o AT A & 2

(i) Ueh STEX 1 TR ¥ IE LAY hifTY foh TeTehIor § T &1 d1hd § If5
B T 1+2+2=5

Globalisation does not always reduce state capacity. The primacy of the

state continues to be the unchallenged basis of political community. The old
jealousies and rivalries between countries have not ceased to matter in world
politics. The state continues to discharge its essential functions (law and order,
national security) and consciously withdraws from certain domains from which
it wishes to. States continue to be important.

Indeed, in some respects state capacity has received a boost as a
consequence of globalisation, with enhanced technologies available at the
disposal of the state to collect information about its citizens.

Read the passage given above carefully and answer the following
questions :

(1) What are the two most essential functions of the state ?
(1)) How do enhanced technologies enable the state to rule better ?

(ii1) Justify with the help of an example that globalisation gives a boost to the
state capacity.
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19. I o 91 YRA o 9 I {0 § S R01 9 @e™ g | =9 A 1950 H fasaa
TR FHesl AR faaT | T8 9RA AR = & o= Ufaeias &9 9 Sl U gehadt 9
ST AT 371 @I AT, 98 TeH 81 T | J&-Y&E H IR TR A =4 o T4 heH 61 G
TR R foiy =18l T | e, fassa i |5 id &l e & el S-S 9
M @, S9-9Y 9RA &1 a1 off 9| fassa & enfifes =1 <o @M A 9IRa 9@
TTHIfeR TR A 3R 1959 H IR ¥ 3% IRV T 1 =T T IR e fF 9w
THR 3gEAT dR T =19 foriet nfafafers =1 gan 2 @ )

FJUX TEU T 7qawuT i eAMYd e Ufeq ae Fefatad uoat & I i

G) ‘Teed T 9 = iy 2

(i) YRG GhR A 91 gN fassa TR shestl 2 o o1 fadie 1 &1 foman ?

(iii) AT AT 9T TSR Toesrdl IROMAT bl YR R qSTHITaeh TS USH HAl
el aeh =R € ? 1+2+2=5

Two developments strained this relationship. China annexed Tibet in 1950
and thus removed a historical buffer between the two countries. Initially, the
government of India did not oppose this openly. But as more information came
in about the suppression of Tibetan culture, the Indian government grew
uneasy. The Tibetan spiritual leader, the Dalai Lama, sought and obtained
political asylum in India in 1959. China alleged that the government of India
was allowing anti-China activities to take place from within India.

Read the above passage carefully and answer the following
questions :

(1) What is meant by ‘historical buffer’ ?

(11) Why didn’t the Government of India oppose the annexation of Tibet by
China ?

(111) How far was it justified on the part of India to grant political asylum to the
Dalai Lama and thousands of Tibetan refugees ?
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20.

FTH FE R E R
T TER i 9L
Y queT &7 |
THEY SAID
THEY'LL SUPPORT
THE GOVERNMENT
FROM OQUTSIDE!

S U T HEA HT SATYAS FHAT FitaQ adr FAfaraa g9 & 3
CUSIUE

() ™ AR R 1989 H SARET TE TR 1 YRGAT i o ?

(i) Sk GRI FARA T8 YRR i TH3Ydci! TXRR FT gl STl o7 ?

(i) T bl WA § H3Ydei! ohl T S| hl TG hiTSIT T 3Tk Sell o M

7 fafa | 1+2+42=5
Study the above cartoon carefully and answer the following
questions :

(1) Who was head of the Government formed by the National Front in 1989 ?
(1)) Why was the government formed by him called a puppet government ?

(i11) Identify the puppeteers pulling the strings and the political parties they
belong to.
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(20.1)

(20.2)

(20.3)

Note:

(20.1)

(20.2)

(20.3)

FrAfafEd I9, shael gruaTte Uaamteiei & o I9e 9&1 20 & I
WE:

1989 H U A 5N 9918 T8 TR 1 TEHHS hiv o1 ?

[a)

1984 QAT 1989  WIRGH Tl H HiUg Ul ohl fhaft-forat €
fiyedt ?

Hed AN & TaRIRET =7 off ? 1+2+2=5

The following questions are for the visually impaired candidates
only in lieu of Q No. 20 :

Who was the Prime Minister of the government formed by the
National Front in 1989 ?

How many seats did the Congress Party win in the Lok Sabha
elections of 1984 and 1989 respectively ?

What were the recommendations of the Mandal Commaission ?

10



ASIA

POLITICAL

|
ad sl

few mu =faror wften & Y@ wEfes § uiw 2T F(A), (B), (C), (D) T (E) gRI
I TR AR T TEGR & AR W AR Y9 HiSY AR 3T W
GRTeRT | 9ok Hal A, TART i T8 SIMRR] bl shHl HE&AT 991 Hafyd 31aR, < &
T difetehT & ®9 | faf@ :

TN it T8 SRR

) Hefad 31er Y HT M
H1 A &I

1) 9 v)
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() 9w H Sf1 qun 18 e SH YR 1 IME @R |

(i) 9 H AR i TR 2006 H TE |
(i) g < A} off Tk ol 2

(iv) T9 < HI HES A S, 2005 H FIGHq F FGICAT TOEA! AR A i WRTd
Y T |

(v) I8 <N, 9RG 1 ' Tl i HIfd, FIAR 2d ¢ h Th 9 g | 5x1=5

ASIA ape PUOEIES e
=e—r—

POLITICAL SCALE

59/1

ad sl

In the given outline map of South Asia, five countries have been marked as
A), (B), (C), (D) and (E). Identify them on the basis of the information given
below and write their correct names in your answer book with their respective
serial number of the information used and the alphabet concerned as per the
following format :

12
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SR. No. of the
Information used

Alphabet Concerned Name of the Country

@) to (v)

(1) The country has experienced civilian as well as military rule both.

(1) Democracy was restored in this country in 2006.

(111) This country is still a monarchy.

(1v) The Parliament of this country voted unanimously to introduce multi-
party system in June 2005.

(v) This country is a part of India’s ‘Look East Policy via Myanmar’.

(21.1)

(21.2)

(21.3)

Note :

(21.1)

(21.2)

(21.3)

Frefafed T9 shae giedtad uirereiet & faT ued 9@ 21 & WM
T

IR FMifd 91 IPKF) ! gficient =1 9l T 3R 39T 1 aiomy
IREISI

URA- IR o s19 Ia1-STd o deaR T fyd faare & v sifsu |

U | Wreha s gHefe, TEAqA e, TS el aTel Shid o ?
2+2+1=5

The following questions are for visually impaired candidates only

in lieu of Q No. 21.

Why was Indian Peace Keeping Force sent to Sri Lanka and to what
result ?

Explain Indo - Pak problem of sharing of river waters.

Who led the pro-democratic, largely non-violent, movement in
Nepal ?

13 P.T.O.
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22, Gifaad 99 3T 4 faufed 8 M7 HiE S: HRU TIE HIIT | 6x1=6

AUl
fgdta fava gg =t Gt =01 ¥d g5 1 IRET A GHSA ST o1 7 AT Fifsiw | 6
How did the Soviet Union suddenly disintegrate ? Explain any six reasons.

OR

Why was the end of the Second World War considered to be the beginning of
Cold War ? Explain.

23. ‘‘orEE W UM % T gy € T A fashe 871 SHR] g o S 6
faRieft Torifaal @ e 39 %o o1 Niface fag wifsm)

SREN

Tk Afofen |8 o ®9 H, AMHIE (TLTHLTTA) i YfHehl 1 3The HifSC | 6

“Resistance 1s the only option available to overcome the hegemony”. Justify
the statement by comparing it to other antihegemony strategies.

OR

Assess the role of ASEAN as an economic association.

24, 1945 ¥ THR] TN H ek FYH U o forehr ot st fafaw | a7 sTat vmenet
T TSIl 1 Feraal o ford TR e hdl © 2 2+4=6

SPEN

Tt fava I o v, TR T TR o T9-5a 3 ol & F0el 31 gAfaai &l 6
U Hifely |

Trace the evolution of the United Nations since its establishment in 1945. How
does it function with the help of its structures and agencies ?

OR

Describe the security challanges faced by the newly independent countries of
Asia and Africa after the Second World War.

59/1 14



25. 1947H TU 9RA & faurH & fF=l ©: gfiomm) 1 faverso wifs | 6x1=6

SPEN

aRd § fafSa fosema o gget =or o IfomH) 7 TRl hifsiu | 6

Analyse any six consequences of the partition of India in 1947.
OR

Assess the outcomes of the early phase of planned development in India.

26. 1967 H T A9 3 A % THE, <0 H T THE IGaTal ohl THEI0 HiT | 6

SPEN

ATITARTA hl YR TSI i Tod TaaTeRTe ST =i 9He Sa1 8 ? Tl i

HIN a1 TavervoT Shifse | 3x2=6

Examine the major changes that the country witnessed at the time of fourth
general election in 1967.

OR

Why is emergency considered to be one of the most controversial episodes in
Indian politics ? Analyse any three reasons.

27. Tferd YoRg i 9?7 IRt YA Tfafafesil &1 aui Hifay | 2+4=6
rEr
Tl § TG 8 9 Tt YRA W 1 Teh ToF S e i ST 1 heHl wIavE 6
RIS |

Who were Dalit Panthers ? Describe their main activities.
OR

Describe the story of Goa’s liberation from the Portuguese to its becoming a
state of the Indian Union.
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